Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

SEGMENT

« Asegmentisaline with TWD __end ‘ZQ‘IQ‘*'S X \

* Name the segment to the right: Xﬂ

ANGLE

Y
« An angle is formed by WD _‘C&&{é that meet
at a common endpoint, called the ___NevitY
e Name the angle to the right: <A A

POLYGON

e Apolygonisa closed

S\des

o Examples: Triangles, Rectangles, Parallelograms,
Trapezoids, Pentagons, Hexagons, etc. S R

£i giAre. F 2
EE—

formed at least three line segments calied

1 ]

CONGRUENT
seqments & Angles

e Congruent means to have the _SAM<L. MPasSwre. .

~

+ Symbol for congruent:

_Congruent Line Segments

‘.. CongentAngles

Segments are congruent if
they have the same length.

A D
B ¢

Angles are congruent if they
have the same measure.

50°
500
J K

Notation: Eé

~

cd

Notation: ¢ TJ <K

CONGRUENT
Polygons

Congruent polygons have the same ll[}% {£S _and_S i df§ .

B
A@
c

* All corresponding sides are congruent.

E
D&F

(AB = DE, BC = EF, AC = DF )

¢ All corresponding angles are congruent. (Z4= 4D, £B= LE, ZC = ZF)
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The figures below are congruent. List all pairs of congruent sides and angles.

1. 1s) 2,
Y E H ¥
F
P
14 W
K J
R D G
Sides Angles Sides Angles
PR Wy (¢Pz=2ow |Dax km [<dDRey
G 2TV Ry |GF¥ WL |0 en
e~ o " EE® T |<¢Fza)
Pe = Wv [ <Q %<V [ER= TE e = J
Determine whether the polygons are congruent.
4. 15m
ARE WE .
9m
15m
CONGRUENT? -
-
HINT: If one figure can om ‘
be laid over the other so I’
they match perfectly, \’fS
they are congruent :) 6. ’
Syd T T
12vd 13yd | |
y i
Yes No J
* A regular polygon is a polygon in which all Si de are

REGULAR
Dolygons

congruent parts.

congruent and all interior ll,!) g le< are congruent.

¢ A line of symmetry divides a polygon into two

* The number of lines of symmetry in a regular polygon is equal to

the hwmber ot gides.

symmetry.

Determine if the figure is a regular polygon. If yes, show the lines of

8.

No

N¢s
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Name:

Date:

Per:

Unit 7: Measurement and Geometry

Homework 1: Polygons & Congruency

Directions: If the figures below are congruent, list all pairs of congruent sides and angles.
1. 2. T S
c G
P M
s B W
L
Sides Angles Sides Angles
Se = B9 <S = o Gy 2 Tw <6 ¥ <L
KC 2 N <Ceoep 2w <8 = <D
— e - M8 & 5D ¢T 2 W
S¢ 2 PN <K 2 ¢y B& = DL VRVIESPRS
Directions: Determine whether the figures below are congruent.
3. “ 4.
?cm T +9cm M 261t
15t
H 26 ft
13cm 13cm 15 #
No @
. é. 9ft
#— . 16 ft
] L]
1 16 101t
N ]
\ES (Mo

The figures below are congruent. Use the figures to answer questions 7-11.

7 ft

62°

E F

5 ft

7. Which side corresponds to DE 2 [
8. What s the length of P02 _ 9.5 £+

9. Whatis the length of DG 2 __\3
10. Whatis measure of ZR 2 L2°

11. What is measure of ~zg2__ 118°

13.

Directions: Determine if the figure is a regular polygon. If yes, draw the lines of symmetry.
12. \

N

L 7 14.

[N

|

4

{
_.\._——-L—' -—

I

.

!
{

[ ]

-

Nes
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Name: Date:
Topic: Class:
Main Ideas/Questions | Notes/Examples
Whatls perimeter? Perimettr is the Swm of the
PERIMETER [Side measures QD v\d o_7-dimensionad Rgure -
~ Perimeter of a:Square : 2
of Squares & Rectangles : x
T 18t
- {5 - 3.2'.cm
— P=H(8) p=4 (3%
LP=+ts | (P=32+] P= Hem |
Perimeter of a Rectangle. | 3. 4. 0
(] H %in 8.5 mm
- 1w O In
13in
M " _ 6.8 mm
- =2b+ )8 =13, + 171
Pe24v20) | LD - [Bobmm]
Find the perimeter of each figure below _—
S. 6 7um £=2(1D+2(19.%
PERIMETER E f, gty
of other Figures + 1w8km =53.4, km
= 2(20L)+ 2(2\ -
P2 52342 =7EI. 4 £+
7. 8. f= 4z +2(5%)
0 25in 55cm - 13 2y
“& T+ F
17in — - ﬁ:’ N
P=14+1M4 25 = |5Ln ‘3 3 lS 2
> 7m P=1.1+12.3 10. P=Ho+ 44+ 1542n
40t .
7.4m +207.4) =124 ]
- ‘2 q.s m 44 ft .
128 m ' 151
27 ft
®© Gina Wilson (All Things Algebra®, LLC), 2020




AREA

What is area? A rea

1S the amount of space

Q(Lweud

lou Q Z-ohmmn&ona Raure-

1. Y12,
of Reclnges & Squres | Arec ofasavdre nem
T T
0, 0
i O B - U 2
‘ A=1l.g2
2
la=s* | oo 13924 m*
~AreactaRectangle | T3. a |*
7 tH T 7cm 93 ft
| ] 4
- W 19¢cm u
ul m [ 8 ft
! A =19(7)
l
=q2 (%)
123 om? |
(A s @ ‘3" S 5| T3842
‘Area of a Parallelogram ;| 15.
?35 in
o f
mm . ___]j
of aParalelogram n_ A=1(4)
_ - = _8(353
[A'—‘— b-h J [,2,% mm =30
17. 18.
16 cm 28 ft
A= L) A = 11(24)
=N Loz =408 F3*
20.

22.5in

A=22.s(2L
= 885 1n?%

57m

A=57(33)

n =IZ)b(p m"‘-
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Name: Unit 7: Measurement and Geometry
Date: Per: Homework 2: Perimeter; Area of Rectangles
& Parallelograms
Directions: Find the perimeter of each figure.
1. } 2- [ O - 3.
- P:L{L‘?b P=202.5)
T T : gsem + 2(4.L)
al O -Sz‘n =1+9.2 87 mm 58 mm
13in 1L P= 2(s7> +2(58)
4.6 s .
cm 2.2 Cm = 4+ W
] =290 mm
. 5. 5] é.
4. 168m 53/“/\\ 2yd =285+ 20m)+1)
12.6m - P 17yd =28 +34+1l
3 ={13 yd
P=92+2 (SJ') M yd
P=12.b121+1L.8 3 y
=[50.4m s Il DLFT
Directions: Find the area of each figure.
7. , 8.
J T [_ A:’_ ]UZ 5.4km A:S_‘-,z
1 = 2
T 250 P"’ > unl em?*
0,
16 ft
10.
9._J 4.]. mi A: L\_“;(z%)
88m ] ) - Z_s_ |_"_'_)
27.5m A=215(3.38) 2z © < S
= é_ - 2 .2
= 2"’2 m z m 3 = l\ T M
12
. =19(11.) 25mm_ 4=12.5(9)
\ 1.5 2“% s H’z) ] 2)”25"“"’2
O n -
19 ft 12.5 mm
14.
I (24) R A=14(5.3)
=2(0L|\ldz 14N = 7"}-Z.inf’
68in
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

AREA

Y 14cm
9@% TWQ&) b =% (9)(4) A=200@)
=5 _ L
L ] | =3(n2)
[A Z bh ] =2(3¢) 4'?4{‘1 =[50 cm?]
a.
26 mm
12in n A =-2"(5(>)(2(,)
A= (12)(IS) omm =3 (7%0)
=3Ci80)  ={q0in?] B1omm*
5 6.
Acm 10.6 mi Az 2 (10-6)(8)
(J
15cm S =§L(8‘1.9)
A=3(a)(12) |
"2 | =HZ.4 mi®
2108 =5y cm? e
= 8.
Mlﬁ sgkm
25ft : '2%'“”7 25\/23
A=3 (1g) i) A—Z(?)(T)
z A= 3 (518)
tlon) -FTRE] -5 {3k

_:. AreaiotaTdangle *  :

2.
A w

AREA
of oy Thapeyoudd

(by decomposing)

L-lym

The area of a trapezoid can be fouond by decomposing
(breaking apart) the trapezoid into triangles and rectangles. Find the
area of the trapezoid below by finding the sum of the individual areas.

Rectangle:A=11(2) = 8% m 2

Trianglc: A = Z() = Y9 m*®

$8+495 = :31.$m1]
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Use decomposition to find the area of each trapezoid.

‘lsm

R: A=9(1) = k3 in?
T A=z (WO =

|"lu’\7'

6 yd

[}

‘ 8yd§
[ ]

G3+14 = | T7in>
: A= ((8) = 48 yd *
=7 (3)(8) = 36Nd?

AREA
of o, Thapereuf

(using a formula)

15vd ",8‘1'3(0 = E?qudl
s =18 = \3(tm*
T At (R = 1 m
130 +119 =|255m 2
" Areaof aTrapezoid:. ~ | 12. 7in
«— bh) —

/ﬁj_\&

h(b+bj

6in
/ A

11in
A=2 (L) (T+1)
A= 3(I18) =

54in?

I8cm

14. 28 ft

12 ft

A=Y (29+12)

= 9.5(H0) F34pp42

A==014) (8 +18)
"7(?4»\ “1182¢cm? |
A= (lz)(zg,ns)
= 6(30.5)

).

"]l83m1 |

16.

9 yd
ﬁlZyd 23 yd
0
36 yd
A=+ (12)(9430)
=L(45) =|z70yd*
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AREA ¢ o, TRAPEZOID

Directions: Find the area of the frapezoid in the middle using decomposition and the
area of a trapezoid formula. If done correctly, your answers should be the same!

2

Area = 198 em 2

- . . Decomposttion - . b . AreaofaTrapezold Formula .
: A= 14 (ul _
: =154 ?F—}l 19 fi A==z 00) ('q'“q)
T: =_‘z-(5)C\l> 1 =5.S—(53>
=27.5$42 - | = 1915 £42
\Z\Vm = |gls £4 2\
R A= 11(3) - A= (3)(1N+24)
=¥¥m* . 14.4m = Y (35)
T:A=2(13)(3) | -Ndomz
, e 5—2 m?_ 24m -——-—j
Avrea = 1Homn?
R: A=12014) - L
=13 C,VY\L 13¢em P[ 2 (IZ} (l'—l‘l‘lol)
T: A= 2(5)U2) | rem 19 em = L (33)
:BOOW\I 12cm = lo'gcmz

R: A= \3LIbL)
= 28% in%-
T A=3 (12)U6)
=L In?®

Er\fm= 3g4 in?

18in

30in

A= % (L) (13+30)
= 8(4%)
=34 \nt

R A= 509) =45mm*

T A =2 (0)A)
= 40.§ mm?

Arepr= 95.5 mm?2

S5Smm

14 mm

A= = (A)(5+14)
= 4.5(19)
-|gs.sMm>
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Decomposlﬂon

. ‘Areaofa: Trapezoid Formula

”-‘12 Pr 7(8.8)

15 ft

Tﬁrm = g2 P42

T (‘2 8)(22*—!)
. \.’ 22yd
= 4.4 (29
ot [N e
= 2 t = 1.0
Lp(p \'01 7 yd \1
Avrea= 121.Lyd?
R A= 19(30) Py A= £ (36)(12+34)
= 5 D 2
T- A-— -L(IZB(BCXY)‘ 18 cm (] 34cm = ’5 (52>
) - s} -
IPrrCGL= 180 ¢im?|
R: A :—5'4(?4.3?2 - A= = (8.2)(5415)
T+ A= 3(10)(8.2) . 1(20)
=yl P2 = 82442

R A= Ls(q<)
~ (o‘-](p nm*
T A= 571499

= 35. 15 mm*

14.2 mm

6.8 mm

Avea= 99.775 mm*

=2 (9.)(4.24,5)
= 4,15 (21)
\:qqnsmmz

R:A= 1(9)
= 4y inz
T A= Z2 (2L
= 119.25 In?

Area = 2L3.25 In*

=% () (1b+42S)
5(58.%)

= 263.25 in?
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Name:

Unit 7: Measurement and Geometry

Date: Per:

Homework 3: Area of Triangles & Trapezoids

Directions: Find the area of each friangle.

1. : 3.
r-]Min : q 7
=7 (1) (6 =L
2 ‘ D) A= (5)(9) A= 2(‘—])(3)
=|42in? 22.Smi? Lgft?
4. 5. ) 6. 30 mm
12m 225m 30 yd
/O\ ‘OY@N 21.5mm [
255m 24yd o
- L
A =3(12)(22.5) :2”&2035? A=F (20.5)(2%)
=1 135m?2 | 1 4 30lmm?
Directions: Use decomposition to find the area of each trapezoid.
7. 16 ft R. A= 20U) 8. 25m R A= 13(9)
= 326 £42 o7 =0 m2
o7t 20 ft T" A’: é (_-7)(“0) I T: H,: .5 (lz)(q)
= 50 2 13m =54 m2
7o \fft’a.: 21 U'F'l'a A.rca_ = | ’” m s

Directions: Use a formula to find the area of each frapezoid.

9.

13¢cm

10.

=5 (913430 45km = ()4 .5415)
=9 LLJ‘L.D 1 km =5,5(19.5)
31 cm = BO‘UOVY\LJ 15 km :FO_I’ 25 k)
1. 12. 39m -1
A= 5 (3.8) (1+2L) =230
o =HH4(33) = 1455
7in 88inC] - IL‘S_Z inz o = -T-IOmZ
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Area of Plane Figures Maze!

Directions: Find the area of each figure Use your solutions to navigate through the maze.
SHOW ALL WORK on a separate sheet of paper and attach it to this page!

4m
[ 1 U |
22m T
) f
?2.7m
- '
2m 16m [ f []
1 [ ém
w 39.6m? 7 94 m? Ym? 24 m2
’ 12.5m
] 15m
(528 m} 15m 15 m K255 ™) ( 97.5 m?) Q
1ém 18m 12m
AN .. | N 48m 16.5m
: 268 m
iy H []
i3 ~ i 9m
: 14m
16.
O g82m 6.5m
106.4 m? 225 m2 17.5 m2 21.6 m? 19.4 m? 144 m2
185m 15.2m
: End
m L
133.4 m? 111 m? 2y 6m 18m
143 m 8 m [ ]
238m @
185m 152m
(117.6m2) @ 171.6 m2 \\ 418 m? 209 m? 84 m?
7m
8m
| L]
19m
46 m? 185.5 m? 38 m2 12m
11.5m - |
18.5m 2m u
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

PERIMETER
Upplicallotns

=4 +11 428

1. A triangular garden has sides
measuring 14 feet, 17 feet, and
28 feet. If Cody is laying a brick
border around the garden, how
many feet of brick will he lay?2

59 £+

2. A tennis court is 78 feet long by 36

feet wide. If Sydney runs along the
edge of the court twice, how far
will she run?2

P=2(18) +2(30) = 223

2(22%) =SL}5(0 4>+\

1.7 mi
weo

3.2mi

3. Levi walked the rectangular path
to the right. If his friend Marcus
walked the trapezoidal path, how
much further did Levi walk than
Marcus?

Levi : P=2017) +2(3.2)

= 0.8
Martus: = 1.1 +2.240.5434

alilliry

4. Aniron dinner bell is in the shape

of an equilateral triangle with a
side length of 8% inches. Find the

length of the rod used to create
the bell.

P= 3(8%)
- 207 1254 in

5. A corner cabinet has triangular
shelves the with dimensions shown
below. If the shelves are being
covered with shelving paper, what
is the minimum amount of paper
needed for each shelf?

A= -pf (21 (1p)

|lbgin? ]

n

:>

21in

. A wooden stage is in the shape of
a trapezoid with dimensions shown
below. What is the area of the

stage?
A=7(20) (3p47)
=13(7 2)

30 ft

.

42 ft

7. Sam cut a piece of piza from the
rectangular pizza to the left and
ate it. What fraction of the pizza
did he eat?

TA=F (L)) = 24in2
R A= 12016) = [921n2

24
192

oo]...

r——

8. Mia’s bed is 6.5 feet long by 5 feet
wide. She would like a quilt large
enough to cover the bed and
hang off by 2 feet along the sides
and foot of the bed. What is the
minimum amount of fabric needed
for the quilte

Ealy

SH Q5+

Saum ade. J&M of the Qi22e

A=%.5(4) :\‘] b.S 42

®© Gina Wilson (All Things Algebra?®, LLC), 2020



]
32 mi

9. A county is in the shape of a
parallelogram with dimensions
shown to the left. If 12,000 people
live in the county, find the average
number of people per square mile.

A= 320IS) = Ugomwu ?

120600

480 25 people [wii®

10. Mikayla is replacing the carpet in
her rectangular living room. If her
living room is 16 feet by 21 feet
and the carpet costs $3.50 per
square foot, find the total cost.

A= L) = 336 #2

336 (3.50) ¥110

dinding

DIMENSIONS

11. The perimeter of arectangle is 84
inches. If the widthis 13 inches,
find the length of the rectangle.

P=24+2w

g4 = 24 +2(13)
%'-} =24 +20

-20 -20
‘ L=2%1n ’

12. Find the side length of a square
with a perimeter of 188 feet.

P=4s

188 =45
9

(H1gr =

58=24
T
13. A rectangle has an area of 34.2
square meters. If the width of the
rectangle is 4.5 inches, find its
length-

A=4-w
34.2 = £(4.5)
4.5 .S

T in =4

14. The area of a triangle is 52 square
centimeters. If the base of the
triangle is 13 centimeters, find its
height.

A= 7 bh
52=7 (13®h

52= LS h
S LS

Iem = h

15. Find the area of a rectangle that
has a length of 16 yards and a

16. An equilateral triangle has an
area of 97.5 square meters. If the

perimeter of 54 yards. height of 1h9 tiangle is 13 meiers,
P= 24+ 2w Afszié teh perimeter of the friangle.
54 = 2(10) +2w 1.5 =35 b(13)
S54=32 +2w 975 = 6.5k
2222w ) A= L) 5=
H=w ‘ A1 [p\{d:'.
P=301s) =45 m

© Gina Wilson (Al Things Algebra®, LLC), 2020



Name:

Date: Per:

Unit 72 Measurement & Geometry

Homework 4: Perimeter and Area Review

+ Applications

** This is a 2-page document! **

Directions: Find the perimeter each figure.

P 20 - P=2012) S an peds 2(18)
T 7 P=4u 12in -+ 2(9.7) =y (%3)
O, p

I7'cm \— (08% _]9.7inl— =(‘13L|‘n 73" =18 , %

‘ K
T 193
Directions: Find the area of each figure. —
4, 3 A= 2,_‘7.. 5. . 0 A'-'-'Zl(ql{)
m - 2 9.4
2low 2 = 1974 yd*
21 yd

6.

A=1LC13) A=1.601)
6km 11.5¢cm

8.

A= 13.3(1.7) . A=2 (18)(7.5)
o - oin i Sin = —
7 [F106. 26 mm? /E?\ L15in? |
18in
9.3 mm
10. A:”L( 1. 7 yd = 4
Z (2))(5.7) Z (M(a)
2lm 57m
A \= 59.25m = mw o |7 LL.SYd?
15m
s =L (2)5418) | e A= £ 20
- 7 km =3.5(33
/élZﬂ %(23} 2 kmn = 280.5 sz‘}
N = 138 £+2 25km
18 ft

® Gina Wilson (All Things Algebra®, LLC), 2020



14. An airplane museum roped off a triangular
area to suround a new plane. If the sides
of the triangular area measure 42.7 feet, 63.5
feet, and 59.7 feet, how much rope did they
use?

P=42.1+4 3.5+ 59.7

‘.— 1Lb5.9 £+ |

15. A farmer is putting a fence around @
rectangular pasture. If the pasture measures
320 feet by 135 feet and the fencing costs $8
per foot, how much will the fence cost?

P=2(320) + 2(135)
= 9qidb £+

4D (g) =[¥72%0

16. Flags are being made with the dimensions
shown below. What is the minimum amount

of fabric needed to make each flag?

ﬁ’z(%)(!'z':

17. Students that attend Bayview Middle School
live in the trapezoidal-shaped zone below.
If the school enrolls 1,170 students, find the
average number of students per square mile.

A== (A)(8+12)
= 4.5 (20)
=90 m: *

8mi

12mi

S 9 13 shudent/ns

18. The dimensions of a driveway to be paved
are given below. If the paving company
charges $9.50 per square foot, how much will
it cost to pave the driveway?

A=12018.5)
=222 £42

222(9.5)=

% 2109

121t

19. The perimeter of a rectangular poolis 110
feet. If the poolis 17 feet wide, find the

length of the pool.
1D = 2(m) +24
W0 =34 +2.¢

=22

(38 p1=2

20. Find the height of a triangle with an area of
156 square kilometers and a base that
measures 24 kilometers.

56 = = (24) h
ISb = 12 |1
13km = h

21. Arectangle has an area of 93 square inches

and a length of 15 inches. Find its perimeter.
3= 15w
b-2=w

p=2015) + 2(b-2)
=Yy inw

® Gina Wilson (All Things Algebra®, LLC), 2020



Name: Math é
Date: Per: Unit 72 Measurement & Geometry

Quiz 7-1: Congruency; Perimeter & Area of Polygons

1. If the figures below are congruent, list all pairs of

congruent sides and angles. oo Sides ... | Angles
s c 0 R AR = RS <A 2R
Bo = Sp <B2& s

o = Po <C= <P

A D P DA% Be <DA <@

Determine whether the pair of polygons are congruent. (Answer yes or no.)

3. IQD

Ve 0

The figures below are congruent. Use the figures to answer questions 5-8.

a———

e :; K 5. Which side comresponds to JK? Z l
<z = d 6. What is the length of JL? 314 e
N 7. What angle corresponds to £Z% LT
¢ 8. What is the measure of £Y?2 YA
L

Find the perimeter and area of each figure.

9. p=23.2m 0T 0. p=_112yd
A=33. 4 m? L : i a=_Ll3yd*
58m =2 2 =
P=14(53) = 13.2 P MN+2(34) = |2

A=1{(31D=bb3 —

- 2 -
A =58 = 33(0"' © Gina Wilson (All Things Algebra®, LLC), 2020



Find the area of each figure.

M. 4=_51.5mm?* 12. A= q5-2\,ld1
. A= N.5(a) - A=13-6(7)
/§9 / =157.5 13.6 yd =952
;7 mm 12 mm
|
17.5mm
M. yd
13. 4= 13.bm?* 14. 4= 33.151n?2
16m A=7@.2)(10) A= Z(13)(5.D

= 13in _
13.6 > sin = 33.)5
9.2m S5.110nY
18.5m

1lin

15. 4= (058 £+* 16. 4= 345 km?
o A=3 (28X 35+12) skm A= 2 (8)(19427)
= ,"} (‘—}j} 27 km o —,‘g(l'Hﬂ)
= (,58 19 km = 345
12 ft 17 km
-2
17. What is the minimum amount of fabric needed to create the 17. lq 5 nmn
pennant below? 2
“in A= £ (12)(32.5) 18. 532m
- i - | :: . lqg

34.4in

18. The perimeter of arectangle is 104 meters. If the length of the
rectangle is 38 inches, find the area of the rectangle.

IH = 2(38) +2 A= 1439
b4 = b +2.2 =532
28=- 24

© Gina Wilson (All Things Algebro®, LLC), 2020
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Name:

Date:

Topic:

Class:

Madain Ideas/Questions

Notes/Examples

POLYGONS IN THE
Coondimale Aame

Ordered pairs can be used to represent vertices of polygons. To draw
a polygon in a coordinate plane, plot and connect the ordered pairs.

Graph and label each polygon with the given vertices.

1.4(1, 3), B(4, 11), C(9.9). D(14,2) | 2. P(-5, 2). O(1, 7), R(4, -3)

A A N
nﬁ‘ // \\
/ LY ‘<’/'
/ \
A < >
< ~ N
/ in
D v
< T >
Find the perimeter of each polygon.
MW 3. A 4. A
PERIMETER o ¥
. Fag
) 5 ‘ )
< I >

A\ 4

£ 20 [Py

Find the perimeter of the polygon with the given vertices.

5.J(4, 1), K(4. 14), L(10, 14), M(10, 1) | &. S(-7, 3), T(1, 3), U(1, -5), V-7, -5)

A

by

'l
15 )

A

A
v

A

v

P=32

© Gina Wilson (All Things Algebra®, LLC), 2020




dinding
AREA

Find the area of each polygon.

7. A 8. A 9.
T - i Y
;, - NS im /
< x > | < 2 | * >
A:(p((‘) H=3(.8> = "‘(1)
=30, =24 £2®
10. 4 11. A 12.1 -
AN ) -
« NENT> | SRR | e
5 $
A=3(s5 A=% (s)(1) A=3(9)(7)
13. 4 14. : A 15. 4
\\ { T
N - N
N 3 wa e
-
< T > < T > < >
A=3090) A=Z(1)(2+9) A=%(L)(248)
@ :3,5(\|? =300)
} = 38.5 ‘_-’-‘ 30]
Find the area of the polygon with the given vedtices.
16. O(-8, 5), R(6, 5), S(é, -4), T(-8, -4) 4
1 '
@ ]
A= 11(a)
=120 L >
1! £

©® Gina Wilson (All Things Algebra®, LLC), 2020




17. C(-1.7). D(2. 4), E(2,-7), F(-1, -4) et

A= 11(3) £l
=33

A
v

18. L(-6, 7), M(3. 7). N(-6, 1) \ N

A=F (L)) T
=27 a

A
Y

19. W(-2. 5), X(0, 5), Y(8, -4), Z(-7. -4) :

A= 3 (A)(2+15) ’
= 4,5(17) f AN

7 e ; N,

A

P3N

A

20. Erik is creating a triangular-shaped garden around a tree. He placed
three stakes in the ground to outline the shape of the graden. In relation
to the location of the free, Stake A is 1 foot west and 6 feet north, Stake B is
AP PI.ICAT"] N 7 feet east and 5 feet south, and Stake C is 6 feet west and 5 feet south.
Placing the tree at the origin, graph the garden and find its area.

P"("l)b) A
B(1,-5) on
/
C(-(o)-s) . /' i N\ N
A=3 (13)(1) a N
|= 115 p42 - ?
]

© Gina Wilson {All Things Algebra®, LLC), 2020




Name: Unit 7: Measurement & Geometry

Date: Per: Homework 5: Polygons in the Coordinate Plane

** This is a 2-page document! **

Directions: Find the perimeter and area of each polygon.
1. 2.
A p=2(D+ 2(7) 4 p=4(q)
T T P:zz_ 1 S 933(,
T g
AZH ) T A=92
[A=28] HHHH Ay
) L 7 ') \4 T
Directions: Find the area of each polygon.
3. A 4' A
A= e
_‘15(3) T AT 1)
< / AN < SRR >
T
9
A 4 A 4
5 A _L( 6 A
A= ?)(,\O) < >
F -40] B A=3(2)0)
At L N RHA =42
iREER \\; ':. 'v/// -——-——J
ANENER) NV
I N A N4
< ' jﬂ >
7 A 3 8. A
=4
n g NN =35(IL)
NEN l = (LS ENEEEEEEEY —
< — s N =Sb
1 L R 7
\ | 4
X -
< 5] >

® Gina Wikon (All Things Algebra®, LLC). 2020



9 A 10. 4
‘ A=% (5)(4+9) T A=3(3)(a+11)
T =2.5(13) T =1.5(20)
TR [ 32s
2 i
< — e
A 4 A\ 4
Directions: Graph the polygon. then find the perimeter and area of the polygon.
11. J(-1, 2). K(5. 2). L(5. -4). M(-1, -4) 12. A(-7, 2). B(8. 2), C(8, -6), D(-7. -6)
= 4l P=2(3)+2(8)
© T A= b2 ) : A=3US)
T [A=30 A=120
L
P s ¢
A\ 4 A 4
Directions: Graph the polygon, then find the area of the polygon.
13. P(-4, 5). Q(5, 3), R(5. -4). S(-4, -2) 14. W(0. 4), X(é. 0), Z(0, -7)
fi=1(a) A=z (IN(©)
Eumm==SCan B CEVEY SN =33
< > < \‘) >
REERRESS 7 y,
A - || o
v L Z
18. L(-5, 5). M(8, -4), N(-5, -1) 16. D(-4, 1), E(8. 1), F(5.-2). G(-3.-2)
AN =31 =\ 5(20)
| " 3 =
) o - ) ) " “L ‘ =30
N N g D \YEY i
TS < N
iy M ¥ L8
3
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Name:

Date:

Topic:

Class:

Main ldeas/Questions

Notes/Examples

COMPOSITE
digune

A Raure dhat Can be

&wa}}wu:al I vegions taat

are lasic plane Raures

triangle

rectangle

dinding
AREA

To find the area of a composite ffgure:

o Break the figure apart into shapes with areas you can find.

{squares, rectangles, parallelograms, triangles, irapezoids)

@ | Find the area of each of these shapes.

© | Find the sum of these areas.

EXAMPLES

Find the area of each figure.

Avea = 35 + g4

AF Z 0496 = 35
A,= 14LL) = 8y

\nafy2]

2 AF 38(sk) = 2128
1n )
14 - =
': @ +19m
[ ]
7sm Arta = 2128 + 30| = {248 m*

Avta = ()25 4 Qb8

A= 12.5(5) = bZS
Az L20) =38

——
-

149.3 in?|

A= 3 (o) =D

A, = 5 (22 (18+30)

fvea. = Qo +528 = E‘olg e

© Gina Wilson (All Things Algebra®, LLC), 2020



A =%(5) = 4O
¢ Az-'-%z:(p"}

Area = Y0404 =\loyyd*

. A . . A\: L{ (_‘\) = 28
COORDINATE A= F(S1+)
= 2.5(15)
Mﬂm Ll ;p 1
< b Pyza= 28% 31.5 =|(,5.5
7. 4 = 1@) = L3
A Ay =S (DB) = 0.5
yum: Area = 3+ 0.5 {13.5
8 : 1A= (L) (28
= 3(16) = 30
i A, =5 (3)(g+H)
XEiFaty =1.5(12) =
) ¥ Aveaz 3018 = [Hg]

9. In order to build a cabin, a wooded area with the dimensions shown
below must be cleared. If the clearing company charges $1.50 per

square foot, how much will it cost to clear the land?
APPLICATION o o ot = 1520

&L =20(28) = 194D @

J A= 13(Lo) = 1080
Prveg = 11,0 + 108D = oo H4*

© Gina Wilson (All Things Algebra®, LLC), 2020
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Name:

Date:

Per:

Unit 7: Measurement & Geometry

Homework 6: Area of Composite Figures

** This is a 2-page document! **

Directions: Find the area of each figure.

1 138) = QY5 |2

A= 21010) =210

1. 78 A‘ =
= 5) = 52.5
O |z Ap= 1535 £ A,=21(10) =210
N AzO45+¢525 : A
s = =210+ 21D
s (182
- (?Sft o =142D km?
€ 34m 16m T A‘: '21' (b)(\gﬁ)
2l O @ 7555
tem mA)_: 10 (‘95>
A= 11.6C34) = 3] | =_:853( )
= LI,
A, = ZU00) = 128 A3z 2 (LS
=65.5
A= 39) 4 128 =519 m* A=2(855)+18S Z[290in?
5. - —_— . _
A, = 304) (428D A% (22.6)ca)
£ =1(42) = 2494 = l01.28
& ] 38m A2=Ji(,|“0(.|0) Ays IS(-Z"D
=10 = 3|2
‘ 13mm
= A=294+70 = 304;@ H"UMI’I‘_-_-;I
=|113.25 mm
7 24in 8 J
AT 24018) =240 1ya
T M = - -
0in A= L (g)(g+13) 0 4vd A= 15‘0 =4y
= 4 (20) =84 A, = 30 (1420)
+= 4 23yd _ -
¢ 3 Az = (9) (g+13) =L =8
s 2 1() =g4 7ya A3 = 2000) =140
20
A= 2(s4)+ 240 " on =44+ 18k +140
4010t =3710yd
® Gina Wilson (All Things Algebra®, LLC). 2020




-t T

< >

A

A= 2OY (54 =49
A= Z(H)(Q) = 18

<
<

A = 5(3)(4115)
= 1.5(24) = 36

A Z

, A= 5B+ A =2(30)

11. A I 12. ; Y F—
T 4] A6
AL Tl o By ed
IEF~EENSARN g I 0
< i ) b TN
- / : 7] P ,g -
L i [ AR N AR D

A= L02)=12
A, = SLYH) = 12
A=12 +12 =94

A)Z (NGB = 1b.s
A= () =49
As-'-' 4(1) =28

A=106.5+49+428 =(81.C

13. Graph the polygon with the given vertices
below. Then find the area of the polygon.

A(-7,5). B(8, 5), C(8, -3). D(-3. -3), ER2. 2)

A

A

t‘ﬁ'-’ i
]
J
>

A Z5(3)(15+410) = 3.5
A=z B)(Io+1) = 52.5
A=31.5+52.5 =\90D

)

1

u

14. The shaded area below is a tile walkway
surounding a square-shaped exhibit at a
museum. Find the total cost to seal the tile
if sealing costs $0.75 per square foot.

@ Igﬂ Al: %(‘L)(ZO‘\'38)

e/ 121t
- L A= 2348) +2U180)
=906+ 360
= 1050 £42
0.1s (1050
= #1792

© Gina Wilson (All Things Algebra®, LLC), 2020



Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

CIRCLE

A set of points cquidistant frm a

Oiven poirvt, called the cender:

PARTS
ok o cihcle

<
cenler o
O
\ ¢

Center: The qwen pond wn whidn all OIS

Qre Yhe Samti dmunoe Hom -

Radivs, 2 The distone fom the Centor fo

Ovvm point b e Clizle.

viameter.&: The disiance Qcemss The Gitle, A vsugh

e ctador . T dipmeder 1S AWie e radius. (d

1. A DVD has a radius of 60
millimeters. What is its diameter?

\20 wmim

2. A bicycle tire has a diameter of
26 inches. What is its radius?

13

3. Find the radius of a campaign
button with a diameter of 2 4

4. A quarter has a radius of 0.48
inches. What is its diameter?

inches. .
\ % in 0u in

Th(, !‘ I : I !l FORMULA:

CIRCUMFERENCE | ptximeter of a Circle C=2mvr
Q%Q/O%d(,@ |« z(read pi)is the _¥ARD of the _ (it tyense.

) E of a circle to its .

E | e This ratio remains constant for ol Ci Vd(g !

3

o rmis approximately 3-\4 or 2%

Find the circumference of the circle with the given measurement.

5. radius = 4inches

6. diameter = 18 feet

L= 2T(Y) Ly v=9 feet
= 8(_3|"b C= ZTF("\)
Gem =18(3.14)

e 15652 $+

..2.()

® Gina Wilson (All Things Algebra®, LLC), 2020



Find the circumference of each circle. Use 3.14 for pi.
7. 8.
EXAMPLES @
C= 2T() c=2T00k)
= 1434 =32(3.14)
=429, m =(100.48 yd |
9. 10.
' r=3km =125 nam
C= 27w (3 ¢= 21m( 12.5)
= (L (3.14) = 25 (3.4)
=11%.%4 km =185 mm
1. 12.
' Y=241n
C=2T(5.58) 0= 21T (24
=11 (3.9 = 43(3.14)
=134.64 tm ={150.12n
13. A circular garden has a radius of | 14. A Ferris wheel has a diameter of
8 feet. If alandscaper is edging 280 feet. How many feet will a
the garden, how many feet will passenger on the wheel travel in
APP”CATIDNS he edge? onerevolution? =40 4+
C=2m () ¢ = 27T (140)
= “0(5.1"‘) ) = 280(3"4)
ﬂSO.'D{ £+ ﬁﬂq.z%} f
15. A circular path with a diameter 16. The minute hand on a clock is
of 0.5 miles surrounds a lake. 4.5 inches long. How far will the
If Camie ran around the path hand travel in one hour?
4 times, how far did she run? -
r=0.26m C"_ég(q‘i’)
C= 2TT(0-25) :z 1)
= 0.5(3.D F|28.20n
= I.B17 _—j
40 5D AL 28

© Gina Wilson {All Things Algebra®, LLC), 2020




Name:

Unit 7: Measurement and Geometry

Date: Per:

Homework 7: Circumference of Circles

Directions: Find the circumference of each circle with the given measure. Use 3.14 for pi.

1. 2. 3.
@ . r=154 r=35km
=216) C= 27 (1.5) ¢= 27T (3-5)
=10(3.4)_ = 23(3.14) = 7(3.4)
:|3|,qm | "72‘1242*( =121.9¢ kw)
£=27(9.5) o= 27T =217 0D
=594k Cm =[37.08in “[oe e yd]

7. A traffic circle has a radius of 75 feet. If Jack
rides his bike once around the circle, how
far will he travel?

C=2TT (1S)
=150(3.14)
A4 £+

8. How much further would a tire with a
28-inch diameter travel in one revolution
than a tire with a 21-inch diameter?

C= 277G H) ¢c=2zmn(i.Ss)
= 28(3.14) = 21(3.4)
=192 i = L5Ain

192-(L59Y4 = IZI 98n

9. Lisa is doing a craft with her preschoolers
using paper plates with a 9-inch diameter.
Ifyard is to be glued around the edge of
each plate and she has 15 children, how
much yarn will she need?

¢= 277 (4.9
= q(3.14)
=2%.2Lin

22.26(18) = |422.9 in

10. Sierra is riding on a carousel with a 10-foot
radius. If she is located 1.5 feet from the
edge of the carousel, how far will she
fravelin 5 revolutions?

C=2TT (35)
=113 4)

= 53.38 0y

53.32(5) =[Zub-2H

© Gina Wilson {All Things Algebra®, LLC), 2020



Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

AREA
ok o chcle

The  oumpunst of SQuce A_FORleA:
OCCupied by a  Civele. - Y
Find the area of each circle. Use 3.14 for pi.
1. Z 2. i
A= (2* A=TT(a)*
= 4(3.14) = 81(2.4)
={12.5vem? 5254 34 yd?
3. 4,
) o
=T A= T (M
= 1A (3.14) =49(3.19)
=|1530.LL M* :P53'8(0 £y
5. 6.
A=T1(5)* A= T2
=25 (319 =576 (3.1%)
:hX’-S 'mz] ={1808. L4 wu?

/——_\

® Gina Wilson (All Things Algebra®, LLC), 2020




APPLICATIONS

7. A sprinkler sprays water in a circular
areq. If the sprinkler can spray up
to 28 feet, what is the maximum
area of lawn that the sprinkler can
water?

A= T (28)*
= 184 (3. 14)
=\ 2406176 $42

8. A lighthouse beam makes a circle
that reaches 15 miles from the
lighthouse. Find the area lit by
the lighthouse beam.

A= T (1S)?
z225(3.14)

{jotp.s o 2

9. A circular garden has a diameter
of 16 feet. Find the area of the

garden. =38 _F.}

A=T (8)?
= (4 (3.14)
:|200.Qla .P,‘,—z}

10. A glass window in the shape of a
circle has a diameter of 38
inches. Find the area of the glass.

r=19n
A=TT(19)*

=36 1(3.14)
=[1133.54 in?

SEMI-CIRCLES

WATCH OuT!

You need to add the
diameter when finding
the circumference of
a semi-circle.

A Sepucirde is one-half of o oircle-
Find the area of each semicircle. Use 3.14 for pi.
. o 12,
r=1m
A== T (3)°
~ A=3 TON*
= 2 ()(3.14)
i = & (12(3.14)
:ﬁIH.\S-P-& \ g aame

Find the circumference of each semici

rcle. Use 3.14 for pi.

13.

8.5¢cm

:-i- 2T 9.8) +

14,

40 yd
ﬁ (ZTT 20) + 40
= 20(3.14) +40

C=

= g s (3.4) + 1
=[43.b% em =[102-8 yd |
SIG WiEon TAT TngSRigebra®, LLC), 2020




Name:

Date: Per:

Unit 7: Measurement and Geometry

Homework 8: Area of Circles

Directions: Find the area of each circle with the given measure. Use 3.14 for pi.

1. 2. 3.
ﬁ F=lomm
A=TT(WD? A= TTLWK)? A= T LM
= 1 (3.4) =36(3.04) =259 (3.14)
:]50-24 'mﬂ =113.04mm? | =907, 4LPt>
4. 5. 6.
A=Tr (D)™ Ar="TT (23)* A= T (lw*
= 100(3.19) =524(3.4) =256(3.4)
=[314yd? | | 1okl .04 em?* -‘@3'8‘4 m*

7. A spotlight can light a circular area up to 24
feet in diameter. What is the maximum area
that can be lit by the spotlight? r= 1244

A= T (12)?
= 144 (3.14)

=[462.1, 2]

8. Sarais buying mulch to cover a circular
garden with a radius of 14 feet. Find the
area of the garden.

A= T C1H)?
=|bis .44 P2

9. Manny is ordering a cover for his circular
pool with a 22-foot diameter. If the
company charges $1.50 per square foot,
how much will the cover cost?

r=\ 44

A=Tr (N
121(3.14)
319.94 fr2

i

1

150(319.94) =¥564.91

10. Lia has a square piece of paper with a side
length of 6 inches. She cut a circle out of
the paper with a 3-inch radius. Find the
area of the paper left.

A= T(3)* Anl"
=q(3.4) =3kin*
=2%.2Ln*

30-28.2L, 1. 14in?

J_________—

© Gina Wilson (All Things Algebra®, LLC), 2020




Name: Math 6

Date: Per: Unit 7: Measurement & Geometry

Quiz 7-2: Polygons on the Coordinate Plane, Composite Figures, & Circles

1. Graph the figure with the given vertices, then find the perimeter and area of the figure.
A o4

A(-4, 5), B(-1,5), C(-1, -2), D(-4,-2) [T - . p=__ 20
N Y
A=
P=2(+2(1)  A=3CD
= b+ly =1 E ]
=20 >

Find the area of each figure.

2. A= L\S 3. 4= llﬂ 4, A= 35
A=Z(Q) » ATE(D(10)

X EeEmEERY:

AN \ LT
i oy
1 JEEE e ananany
'\\ \
5. 4=__1.5 6. 4= 103 7. 4= 24
A=3(3)(5) L A=ZCDET) A=3 (N BE+9)
< > }| /
TN T 4
NN R
\\ NC — !/ < J/ >
NN 11/ L
] ' .
< = HE

© Gina Wilson (All Things Algebra®, LLC}, 2020



Find the area of each composite figure.

. 2
. 4= 204n* 9. 4= H518m
9in A, 17(4) = 153 st A,z -‘»(1)(2'41’28)
Ar= ZLUMDIW) = 5) = 3.5(52)
=132
17in = 12(28)
= 336
—15in —
10. 4= L'q 11. 4= —lg
! S AW y A LD =24
< = B Ay= “’(.V) =2‘4
Do A3 )b )  FEETRFRITE A3 (B =6
T 4] % 2z
REEin =40 TN Ay = b)) =24
N = B o
H S AsEna
Find the circumference and area of each circle.
12 C= 27T(7) A=TT (N* 12. c=_43.9bim
= 14(3.14) =4a(3.14) 1< 153.30 em®
=H39, = 153.80
13.c=_ 1130444+
. . 4=_10171-36 4%
‘ @ C= 21T(I5) A=TrUg
. 3.2
=8l (3.14) = z2u(a) |22
' =”3~O"| = 1017-36 15. 106 -5 ‘P+7_
r=18 £
14. A trampoline has a 17-foot diameter. 15. A circular tarp has a radius of 15 feet.
Find the length of the net that surrounds How many square feet of material was
the trampoline. r= 8.5%4 used to create the tarp?
_ A=T(S*
C ’_ZTT (3:5) =225(3.)49)
"‘7(3)"’() =1006-S

— © Gina Wilson (All Things Algebra®, LLC), 2020
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

What is o
SOLID?

A theee- dimensional figure  thadt

eneloses A Spale-

Parts of three-dimensional f}gures:

e AN fdgﬁd is a line segment connecting two faces.

e A ﬂﬂ[ jﬁ)( is a point connecting three or more edges.

Label the parts of the figure:

is a "flat" surface.

Find the number of faces, edges, and vertices of each solid.

1. Faces: 2.

4Ny . >

Vertices:

g 7

|2 q
/ Vertices:

3. Faces: 4, Faces:
i 1 5
Edges: Edges:
[2 ¥
Vertices: Verttices:
7 5
s. Faces: 8. Faces:

24 b

)

Vertices: Vertices:

o 7‘ 4

© Gina Wilson (All Things Algebra®, LLC). 2020




TYPE
ok Selids

PRISM

|

e A prismis a solid with two bases that are
congruent and parallel.

to the left is a triangular prism because

— e Prisms are named by their bases. The solid

the bases of the prism are triangles.

PYRAMID

s A pyramid is a solid with one base and
sides that meet at a point.

to the left is a triangular pyramid because
the base of the pyramid is a triangle.

‘ « Pyramids are named by their base. The solid

Classy each solid as a prism or a pyramid.

..

PNramid Prism Prism Pyramid
Name each solid.
" Rectangular Putagonal
! Prism Pljmm}d
13. - i l 1a. <
viangular 0 quare
Puyramid &ﬁ Prism
15. 16.
Tvaptzoi dad Reetungutar
Prism V«jmmio\

Prism

17 Htxagonal

Square
4& Pyramid

® Gina Wilson {All Things Algebra®, LLC), 2020




Name:

Date:

Topic:

Class:

Main ldeas/Questions

Notes/Examples

NETS
ok &l Jigunes

When a three-dimensional figure is “cut” and “unfolded”
onto a flat surface, the flat representation is called a net.

3-DIMENSIONAL FIGURE

NET

side bottom side

DRAWING
et

There are many ways to draw a net. One method is to draw the
base first, then draw the sides around the base then finally the top.
Draw a net for each figure below.

3-DIMENSIONAL FIGURE NET
1.
Y,
2.

© Gina Wilson (All Things Algebra®, LLC), 2020
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Name:

Date:

Unit 72 Measurement & Geometry

Per: Homework 9: Three-Dimensional Figures

Directions: Find the number of faces, edges, and vertices of each solid. Then name the solid.

1. : (g 2. : 3. _ :
‘ F E b F b
“ E {7 ” E |2 E 10
v: R i g Vi
Name: Name: Name:
Revianguar Prism | Trapegidal Drism | Rendtgonat  Pyranid
4 F: L} 5 EoT] 6. Y
A E Q E |5 E Q
v 4 v: |D v: |,
Name Name: Name:

Pentagonad  Prism

Triangwlar Prism

/A

8.

10.

© Gina Wils4 {All Things Algebra®, LLC), 2020



Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

he Swrface area is the swm of +he

SURFACE AREA | oxeas of the bases and laderad faces-
What can we use to find surface area?  \| o 45 !
Label the dimensions on the given net, then find the surface area of the solid.
1. 12
SURFACE AREA ; o | A=48 SA=H4g+72+
of Rectangular Prigmg | | A--erreree A=12 Hg +12+
12¢cm 4cm S R— b 242 4
=¥ i A= =t 4
sl ATHE LAY (T 2sS o>
A=12 L—
2. 1V
SA= k0 +Ho +
I0( A= L0
lleo +H0+
261+2S
E— 45D in% f
3. —
AEL SA=33+ 6+
. - N 65 +15 +
1N'm ||23 ;_ ;555 ] | 33+5S
- 5m L : = 200 mz }
3m 3 -5 3 s
5
Draw and label a net for the given solid, then find its surface area.
4,
DRAWING NETS 1[Ames Sh= 94 +u3+
A= laz |A°] A
7H| L 12 ft 24 109
on 1\A=8 .
9 i = 510 442

® Gina Wilson {All Things Algebra®, LLC), 2020




A=
3 | o SA=18+36+
f= = = = 13+306+
------- o ey = |\ | € 13 18478
13 yd . - 2
bl 36
A =10 SA= {20410+
- O0+10+
A: - A’ R_:lgb l%
e 18 I26 A=10 | (2L +180
\’—‘ 152em*
------------ 77 cm T|A=10_]7 1D
10cm )

CUBES

Because the surface area of each face of a cube is the same,
the surface area of a cube with side length s is SA4 = és2.

8in

8in

8in

SA= 6 (8)*
= bk =|384in"

8. Find the surface area of a cuhe
with a side length of 3.5 feet.

SA=0 (35)*
= (12.25)
=|713.5 f42

APPLICATIONS

below. What is the least amount of

9. A shoe boxin the shape of a rectangular prism has the dimensions given

apping paper needed to wrap the

8

. hble SA= 10440+
é A= | p- nz+40+
: K= LA= A=
HVA—. "{'10 wz | |uz 70+ 112
o e = Yud in®
= n
8in S ‘A-‘L}D!

10. What is the minimum amount of cardboard needed to construct a
box of cereal that is 8 centimeters by 20 centimters at its base and

30 centimeterstalle 30
SA= 00 +1L0 +

30 g | A=240
= 0 +L00O+
- A= | A=(00 = 24
R=Loo |1 i |20 200 +14D
| = 2000em =
|_A=240
® Gina Wilson (All Things Algebra?®, LLC), 2020




Name:

Date:

Per:

Unit 7. Measurement & Geometry

Homework 10: SA of Rectangular Prisms

** This is a 2-page document! **

Directions: Find the surface area of each rectangular prism. Draw nets for prisms 5-8.

FIGURE NET SURFACE AREA
1. I
A=55 |5 Sﬂ=45+55+°|‘i+
<1 e : 55+ 45+ %9
v = A=} p=
AR s | = 39gf>
5f N f 5 A= """" 5
2.
SA= 6Ly 28+ €+
Zmm Sk + 8 + 28
= 184 tam>
14 mm L
4 mm
3.
Sh= HS+180 + 3
AzI90 |2 +4S+ 30 + 180
2em | 3 [Amae FEHS TARae ] - 522mzj
3em T 1z
15¢cm A=1%0
4.
i SA=385+59.5 + 187
, 35| A=51S |35 = ¥59.5 +38.5 +1&7
Nin ]7 """ . Jasin 3‘;; A=187 ;;i— R=187 | "—‘ 570in%
m ] e eees o H S
A=59.5 |35
5 -
: =25 |S
E s SA=90+25+9D+
A=p| A= (A= A0 25+901AD
18yd 2 ) -
e . s -\LHDLfd |
yd
Syd =2 |s

® Gina Wilson {All Things Algebra®, LLC). 2020



6.
Az 224 SA= 224 +70+ 320
s & p=320 o o + 704 224+320
I I ] e L= 1228 42
A=320 %
32
7.
Mom s SA=21+12 + 108
- 1g+214 108
e fl vt >
I | A \j thy M4
12 ft TR T i
2
8.
] SA = 2L + 90+ 20
f 13m
i + 5.5 +90
7 +58.S
, 20m - 2
4.5m - gljm I
9. Find the surface area of the cube below. 10. Find the surface area of a cube with a side
2 length of 6.5 centimeters.
SA= L (1d) 2
> b(190) Sh=b{ls)
""" — = (p(42.25)
14in |nl0 In = 253500,‘2.

11. A cereal box that is 12 inches tall measures 2.5 inches by 7 inches at its base. The company
is considering changing the base dimensions to 3 inches by 6 inches with no change to its
height. How much more or less cardboard is needed to construct the new cereal box?

[A=30 \zS A=z, )3
= A= =
1A:gt{ s A=84 g7 A=12 “,ng:-n_ ,’: b \h ll .
X 25 [A=30 T2z  3las n-Iiess
12 12
SA= 84411 +3p SA=T2418 +3(+
+3443p +17.5 T2430418
=203inZ =2521n*

© Gina Wilson (Ali Things Algebra®, LLC), 2020



Name: Date:

Class:

Topic:

Main Ideas/Questions | Notes/Examples
Label the dimensions on the given net, then find the surface area of the prism.

1. | A= Y5 +1015

Of Iriangular Prigms o ipe | pe +101€
4.3in - = l5{15 imn
Sin E ““§

2,
i
8cm =l7cm :
10 em \J A=nb
15cm
SA=80+L0 +15D
. 0
=520 en?
3. '
10t
N 0| A=250 SA=28D+
200+ 24
58 || e, +160+24
- ) _ 2
%‘Z A=200 % = (484
8 ft b T
6 ft = 15D b

11.8ft

a2 }'" E5 23 £42

® Gina Wilson (All Things Algebra®, LLC), 2020

2] A=
12

o
)

Sft

4,
DRAWING NETS A SA=192+ 295
s\ 12 +80+142
A:
g0
:
v




8.6 mm SA= |80 *‘B
10 mm + 180 +1(80
10 mm ‘@ '}'HB
A 18 mm = (02(0 MMI
10 mm
6.
é6m J
8m 5 30 A=4O
A 5m 10
10m A=2I-|
SA=24+50+ 24 _
+30+40 7| Iwm"-)
7.
(R
oin 12 1 1
. Nin A= X A=ty A=z, |4
< A= L8
4in 12in
SA= Hug +48 + 4. +44 +3¢
|= 221 b in?]
8.
o
8yd A=90 YA: oy AW | g
A=30
>vd 12yd SA=30+9 L, +30
+oH +40 (=

APPLICATION

9. A cardboard pie box has the dimensions shown below. What is the
minimum amount of cardboard needed to construct the box2

7in

SA=2141Lb-25
+214+15
25

=%°1.5'm3

®© Gina Wilson (All Things Algebra8, LLC), 2020



Name:

Date:

Per:

Unit 7. Measurement & Geometry

Homework 11: SA of Triangular Prisms

Directions: Use the net to find the surface area of each triangular prism.

1. 2,
TN bh 10 16in %
N A=30 iA=40 A‘—'SO l7in 1 : 1
Sf g i _ s gz =
8 ft v A 4in = M 23 ot | 238
e
g8
Sh=20+24 440 +24 +50 SA= 2381 88 + 159
=‘ g+ 4+ 3%123%
| \= 800 in
4,
5em 9cm 5@";5‘ ______
13cm ﬂqg’ A= =
® I 1332
g — 0.3

SA=UL 432 +171.% +32 4ug

S—“ZZ‘LZ’ m?

SA=15 +1n+1339 +22.5 +25

L= 3l0.9 cm:]

Directions: Find the surface area of the triangular prism by drawing a net.

5.
6.5yd 10yd _
1 A&
A=
10
7yd

SA=10+2215 17042215 +70

\7“— 255.5 \|d 2

13mm

SA=30+24 t10+30+2¢

‘:lZOmle

® Gina Wilson (All Things Algebra®, LLC), 2020




Date:

Name:

Topic:

Class:

Notes/Examples

Main Ideas/Questions

Label the dimensions on the given net, then find the surface area of the solid.

SURFACE AREA
of Square Pyramids

12mm

S5mm

85ft

N 11 ft

DRAWING

Draw and label a net for each prism, then find its surface area.

3.
- SA=4017)

|
18in - ~ +10L9
A- - 2
< la |2 = lmnﬂ
13in =
13in "
a,
SA=4(324)
+

7.2 ft
‘ Z
1;
9 ft 9 it J

@ Gina Wilson (All Things Algebra®, LLC), 2020



SURFACE AREA
of Triangular Pyramids

The base of each of the following pyramids is an equilateral triangle.
Use the net to find the surface area of each triangle.

5.

SA=3(H.2) 1]
- ya

Rl

7.1 m

78 ft 10.4 ft

SA = 3(46.8)
+2.4

\= 2023842

12 ft

DRAWING
NETS

10.1 yd

b R e

6yd

APPLICATION

8. The roof of a shed is in the shape of a square-based pyramid. if the roof is
being replaced, how many square feet of shingles will be needed?

A=
108 -

- -

WS 105+

A=
‘w o(l

H(l0sL) =|422 442

® Gina Wilson (All Things Algebra®, LLC), 2020



Name: Unit 7. Measurement & Geometry

Date: Per: Homework 12: Surface Area of Pyramids

** This is a 2-page document! **

Directions: Find the surface area of each square pyramid. Draw nets for #3 and #4.

1. 2,

10in

4in

SA=1u+ K(20) _ = 1b3.¢m2
A in? |

15.2yd

SA=juy + 4(ai2) SA= 21+ 4(8b.4)
(—“— 50%.% \{dﬂ \ = Hau.bun?

5. A canvas lamp shade is in the shape of a square pyramid with the dimensions given below.
What is the minimum amount of fabric needed to make the shade?

11.5in qL

P“
o
©

16in A=

N\ 4(42) 4 308 in2

® Gina Wilson (All Things Algebra®, LLC), 2020




{Assume all bases are equilateral triangles.)

Directions: Find the surface area of each triangular pyramid. Draw nets for #8 and #9.

é.

5.2cm

F%QH om?

7.

16 yd

SA=111.2+3(95.2)
| = 3.3 yd?

—

SAR=27.6 ¥ 3(22)

= Ol3.(p'm7—J

12.1 mi
21.8 mi

14 mi

SA=84.1 4 3(52.L)
= 542.5mi2

trophy?

10. The winner of a bowling tournament will receive a trophy in the shape of a triangular pyramid
with the dimensions given below. What is the minimum amount of paper needed to wrap the

10.4'n\‘21 in A
12in

SA =24 ¥30120)
= o |

® Gina Wilson (All Things Algebra®, LLC), 2020




® ® & SURFACE AREA REVIEW & &

Directions: Find the surface area of each prism or pyramid. Draw a net where one is not provided.

& PRISM NET SURFACE AREA
A=32 4
: . : SA=50+ 22+ 112
4in A= A= = A= 2
A 80 i isuinz ¥ 32 +50 1l
14in ; : ;
. : = HODinz
m 11 T @I "t
=32 |[F 9
@ T
A ‘Ak’g‘l a4 SA = 2l 2)b4
P‘: Z 1A= A=
’L\\:\Z“‘ 2 {200 | 24 EURUR
""" ; L—— '= 2
9cm Py a A’-'%‘ \02(0(‘)/{‘
4
0 2
A= -
13 3 |1l a3 SA (o(.‘loq>
A Fo e e = (o W\ZJ
N ol 104 \\m PERIT
13m
13m A=
1wl

5 ft

7 ft N

12 ft

SA= 35+ 30
+¢4d +30

+9]
\= 270 42

14,1 mm

" "
10 mm 10 mm

SA = Lo+ 50

+894.L +50
+b0

F_%‘Ho mmzl

® Gina Wilson (All Things Algebra®, LLC}, 2020




NET

SURFACE AREA

SA= WS +40.2
+120 +40.8
41LS

= 53|.(,30|1}

{Assume a square base.)

SA = (Y +4(4%)
\.: 250 sz

N

10in

{Assume an equilateral base.)

SA= 256 +
7.5¢cm ._‘, ((pO)
= = A=
olzst |© = 49em > ]
16 cm Azl0
{Assume a square base.)
4mi 5.2 mi SA= 8.+
30D
6mi = 5 " (0 M z
@(Assume an equilateral base.)
Sh= 435 4
17in 8.7in 3 Cgs)

= 20!853{)"1

@ Gina Wilson {All Things Algebra®, LLC}, 2020
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Name:

Unit 7: Measurement & Geometry

Date:

Per:

Homework 13: Surface Area Review

** This is a 2-page document! **

Directions: Find the surface area of each figure. Draw nets where they are not provided.

1. 2 101 provi
h 3mm > A;Z' ______ 3 ‘ 0 A=
7 mm smm ?; A=35 f‘; 10 ft
7.5ft ']S ‘:
Azzf PP T 20 |1s
= A= = =
Sﬁ.rgé';g & | A=35 $t=to+30 s |uo |75 |
+75 +4o
+2)+35 = S +3D -
= 15
\=142mm= . %
3. < 7 —4”1
I g 10in 2|
4.5cm 025 y.< < T o
| - U
ssomt-isem  JA® A= ) 8in k 11in - 1ot A=1O
' 4 2029 \20-15 1025 . A=g3 ip=zle i A= "
6in
s s :
SA= L(20.25) w @A:gg-}(il(, +110 2.,
[ - A= 124424
=10 50m%| ys _
Lm 45| 2025 =322
6.
A&
9 5601‘ 9 13¢cm
- . - A; 8 . 12¢cm
- P ' cm _
og o (08 |” oem o\
z s . -
- ae ]
Az Q \Oo\ g0 j0
SA=3008) + \f/ 2
2(35) =208 + =
= 3q2m” 2 (o) 60
| = H0g o




9 mi

A = H(22.5)
Sh= 20+ H SA= + 4(b2.1)

_F 12644 E 229 4 na* |

9. {assume an equilateral base) 10. (assume an equilateral base)

/ RN 13.6 if‘ 121
SA= 435+ 3(115) SA= $4+3(9s5.2)
|= 252102 = 3L4-b sz

11. A glass aquarium in the shape of a rectangular prism has a height of 15 inches and a base
measuring 36 inches by 16 inches. Assuming the top of the aquarium is open, how many

square inches of glass were used to create the aquarium?——36 \
A =540
SA= BHo+ 240+ 570 i 5
= p( =
4 240 + 540 qu AZSTL 240 )”p
\ = 213 in?]
5] A=540

12. Gary is making a ramp with the dimensions shown below using sheets of plywood. If the
sheets are 4 feet by 8 feet, what is the minimum number of sheets he will need to buy?

3282 2:%
126 ft A= | A= A=
T 25 | "84 e3.1 |
Tz & A= SA=Z +24+84 +24
z $8% 2”1
282 - = 243.2
34 =10 | ggheess of Pluwood




Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

VOLUME

\olume, is the Qmowt of spare ot

VOLUME
of 4 Rectanqular Prigm

0 3-diimensionad 'Rg\/wro Yakes up:

The volume of a prism is the @!CDdMC:‘; of the

ONCA ___ ofthe _PASE  andthe V\{Agu

of the prism.

' Volume of a Rectangular Prism -

V= B h <0r V=l-w-“¢\§

height, h

areq of base, B

EXAMPLES

Find the volume of each rectangular prism.

1.

#
7 ft 15 ft

B= 108 = Vs

V=05 (12)

2,

29 cm

3cm

8cm

B=24(9) = 232

\ = 232 (3)
Fl?.uo Hﬂ =LAy om>
3. 4.

48in

9in — 17.5m
13.5in

V= (2)(13.8) (4-8) rem "

= T 2
Y 533.2n V=(2.6)8)(11.5)

r= 221-5m3

© Gina Wilson (All Things Algebra®, LLC), 2020




...........

V= (£)(E)(2)
= 20

{)

- - 3
= -
,_iY\

-2 |33y’

FINDING
31Missing Dimension

7. A rectangular prism has a length
of 12 inches and a width of 7
inches If the volume of the prism
is 1,512 cubic inches, find the
height of the prism.

N= L w-h
15122 12 (M +h

1812 = 84 -h
84 24

| h=1%in

8. If the volume of the prism below
is 855 cubic feet, find w.

4.5 ft
—on
V= A-w-h
355 =2p-w- 4.5
355 = Adw
av A%

APPLICATIONS

9. Elijah is pouring sand into a glass cube with a side length measuring
2.5 inches. How many cubic inches of sand can she fit into the cube?

N=L-wihn
=(1.5)(2.5)2-5)
\-‘- \5- b25in 3}

10. A dump truck has a rectangular bed full with soil. If the bed measures
16 feet by 8 feet by 4.5 feet and the soil weights 75 pounds per cubic

foot, find the weight of the soil.

V=(1L)(8)(4.5)
=570 43

Weight =75 (570)
= 43,200 pounds|

® Gina Wilson {All Things Algebra®, LLC), 2020



Name:

Date: Per:

Unit 7. Measurement & Geometry

Homework 14: Volume of Rectangular Prisms

Directions: Find the volume of each prism.

1.

2ft

= (1IH)0H0H)
= (£)EE)

2 mm J_ _______________ .
l 11 mm ’ 12.5 ft
15 mm Y
) V=5.8(12.5)(2)
| = 1495 mr3 = M5 £43
3. 4,
!
1I-cm ,L--.] ....... ]%ﬁ
221

- Om - _____.0 = ZS

V= 2304)(23)
2 ()

5. If the volume of the rectangular prism below
is 735 cubic meters, find /.

V4w -h
| [P 135 =4 (3M)(25)
1 1 a4m 135=10.210
L3.Sm=i

6. A fish tank measures 19.5 inches long by

12 inches wide by 15 inches tall. The tank is
filled with water to a point 2 inches from the
lop of the tank. How much water is in the
tank? h=Is-2
=13in

\=\9.5(12) (13)

EBO'-\'Z. W\q

® Gina Wilson (All Things Algebra?®, LLC), 2020



Name: Math é
Date: Per: Unit 7. Measurement & Geometry

Quiz 7-3: Surface Area and Volume

For questions 1-8: Using the nets on the separate sheet of paper, find the surface area of each figure.
Draw nets where they are not provided.

2. 1. 20 mm
” 121t Yy £42
9

1.

8 mm 2. )
s 44y
11 mm 3mm ft } Ny
Sﬁ: 24“' 33 4 88 5.5 ft 4, B(iL’ m
+23 + 24 + 33 SA= L+ H49S 108 5, 4.4 tm?
+ 49.5 + Ll +108 '
- Z'qo _,_H-] 6. UOO ”\L
3. 4. 14.1 m
3yd I 4yd -
Syd 10m 10m

11 yd
SA = Ho+H0+ 5p + BL.H +50D

SA= L444433+55 +b
= 2364

= 4y

12.5in

7.3¢cm

15in 15in

@«
3|
o

4C
4cm

SA= 225 + 4(93.15)

SA= b +4(I4.L) - Lo

=144

© Gina Wilson (All Things Algebra®, LLC), 2020



2
7. (Assume an equilaterai base.) 8. (Assume an equilateral base.) 7. Z_O (p . ’-' k.m

8 km » 10.4 km ” 8. Y Cm 2

43cm 7.1cm 9. 5(0—1 "n3
12 km 5cm 10. _'372" m3
343.2 £4*
SA= U024 +3(48) SAz= ) "
_ | A= 10,15 +3(11.15) L 12375 §4°
2604 = (4

For questions 9-10: Find the volume of each rectangular prism.

10.
3%m
V= 8.4 (13.53(5) V= (52)(3%)(3%)
=5
o (B3

For questions 11-12: Read and solve each problem.

11. A tent in the shape of a triangular prism has 12. A sandbox in the shape of a rectangular

the dimensions given below. What is the prism measures 11 feet by 7.5 feet by 1.5
minimum amount of fabric needed to make feet. Find the maximum amount of sand
the tent. (Assume this includes the floor.) the box can hold.
6.9 ft - -
SA= 3(4L) + N=11(7.8)318)
2 . -
A (21.6) =123.15
12 ft = 343,2
8 ft
As
11.!1
A-: Az | A=
Q@ | {0

© Gina Wilson (All Things Algebra®, LLC), 2020
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Name:

Per:

Date:

1)
3| R=33 |a
: ; 5 - = = |A®
A= A= A=gQ - - 4 l
Ry | Aoge iy | Wo| o8 fuy |0 )72
A=32 |3 Py
3 1
= ‘4 \ \O
4 A=4 A=
VP =\ PR
hess & o [pen | A5
10 to
A =55 S A =5°
\© \©
5.
7.

© Gina Wilson (All Things Algebra®, LLC), 2020




Name:

Unit 7 Test Study Guide

(Measurement & Geometry) Date: Per:
Topic 1: Congruent Segments, Angles, and. Polygons
1. If the figures below are congruent, list all congruent Sides Angles

sides and angles and place markings on the figures to [ ~

show the relationships. TR = DF <T 2 2y

R — e
c Aﬁ:& E TS = DO <S 2 <l
T

Determine whether the figures are congruent.
5in Sin ND E Nes No

5. The figures below are congruent. Use the figures . — —_
below to answer each part. a) What side coresponds to JM 2 Rp

b) What is the length of @2 ) Dm

J P Y
14m
K
8.7 m smo c) What angle corresponds to £LP2 <1
= L R
M 10m ; \DZ °

d) What is the measure of £5?2

Example of a Regular Polygon

é. What conclusions can you make about the sides, angles, and lines
of symmetry in a regular polygon? Draw a regular polygon as an

example.

A requiar Polygon s Longruont
SIAGs + congruent oung \ﬁ'S Also, the

Nmber of Unes o+ oﬁ?g 1S
egual b e hu w»(o
Topic 2: Perimeter and Area of Rectangles, Parallelograms, Triangles, and Trapezoids

Find the perimeter and area of each figure.
8.

7.
o p=Y(5.1) 0 G P=2(1%2) +2(2%)

T 1 = 22'8 U 22em = 5-3L 4 L\é"
0, O - -
. =8z un ]
3

=(5.7)" A= 13 (22)

‘:SZ.L“QW ‘ ";(S ::L)sz

® Gina Wilson (All Things Algebra?®, LLC), 2020
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Find the area of each figure.

9. 10. 11.
H 125m
7em 182m '7"‘
A=1(l-3) A=12.5017.) A =5 (MY
= R
441 om =220m? A=A mm?
12. 13. 5 yd 14.
i 8.6 E 14.7 in
® ydi 18in
18.2in 13 ydn 8.2in
- . in
A = (50 e ) A=2@)(1345) N ¢.2)
S Ao (1) (12+€.2
sz in J =408 _
T 2ud? =5,5(26.2)
. [= 144 ip?
15. Find the length of a rectangle with a width of

7 inches and an area of 112 square inches.

A= L-wW
n2=4
7
A=1vin

14. Elsa is sewing fie rectangular flag below. If

the flag is 6 feet by 2.5 feet, how much fabric
will she need for the dotted section?

08t A=3 (L)(1.1+8)
e ]uﬁ =3(2.5)
I | =1sf42

Topic 3: Graphing Polygons in the Coordinate Plane

17. A(-4,-7), B(-4, 2), C(5. 2), D(5, -7)

Graph the figure with the given vettices, then find its perimeter and area.

18. W(-5, 6), X(7. 6), Y(7. 3), Z(-5, 3)
A N A d_ |
P= 4(a) K P=2012)1213)
S e [Fae
) tH Aazq: ) S ATIZEG)
=gl | =306
13 v B £7

© Gina Wilson (All Things Algebra®, LLC), 2020



Graph the figure with the given vertices, then find its area.

19. P(-2, 5), O(7. 3), R(7. -5), S(-2, -3)

A

/

e A=%@)

20, E(-4,

1), F(5, 1), G(3, -7)

A

A =5 (a)(8)

i: 12 ) i - \ =30
< > . I >
\\
5 B , N
v il 7 &
21.K(-8, 6), L(0, 6), M(-8, -5) 22. T(-4, 2), R(2, 3), A(2. -1), P(-4,-7)
=1
v 7 A= ()11 B A=z () (4+4)
t =4y jjum==s =3(13)
< A > < ‘ - 3 q
l/ p
M
v V v
Topic 4: Area of Composite Figures
Find the area of each figure.
23. . - - 24, 1
14in A, =Is(5) =S gcm A, =z W) (548)
r 2
- A= (L)) =21 =2(13)
1N cm =20
15in
9in - A
A= 1§42 Zem Aa= B OD(5412)
. — =3.5C17)
Sin =102 ]
- = 59.5

A,z 2 US)(L)

= |20
Ay = 10012
=180
A=120+180

[F300m?*|

A= 2L +5°|.i:: gsS50m

2.

13yd

A = (03) =78
A, T 13%= 109
Az = L(13) =8

Az1% +| g
2 325:1(1"]
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{28.20 in*]

27. A 28 A
=4( :
N :2(9) / AT 5 (L)(3+10)
A = et Az =2 (N () ) /IC‘ =39
ST L, < Ar® b(d)
LT =24
[I, 2 II
A=28+323.S S
v 3(0("5 A—;3q+2'—]
= 3
Topie 5: Circumference and. Area of Circles
Find the circumference of each circle. Use 3.14 for pi.
29. ’ 30.
(‘,': 27T 35 c-: 27T €.
=7(3.14) = 17(3-14)
|7 21988 |~ 53.38m
r=36 o
Find the area of each circle. Use 3.14 for pi.
31. 32. 2
A= T (3)* m A=Tr4)
28 yd _
:.01(3.'4) . = Iolb(3-|4)

N

Y=y

[ s ya?

33. Ben is riding a horse on a carousel located
5.5 feet from its center. If the ride makes 8 full
revolutions before stopping, how many feet
will Ben travel?

C=a2mss  3(z4.90)

=319 = 27.32 £+

= 3494

34. A pizzeria will deliver up to a 9-mile radius.
Find the area in which the pizzeria deliver.

A= Tr(@)?
=81(%.14)

F 254.34 m
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Topic é: Classifying Three-Dimensional Figures
Find the number of faces, edges, and vertices of each solid. Then classify the figure.
35. Faces: 36. Faces: 37. Faces:
b ] 5
Edges: Edges: ‘ Edges:
' 12 12 A 9
Verlices: Verlices: Vettices:
R,
¥ T
Classify: Classify: Classify:
Square prisim Hexagonad Pyramid | Triangwlar Prism

Topic 7: Surface Area of Prisms and Pyramids

= 2358 m?2

Find the surface area of each figure.
38. : 12 39. V)
A:
Sm 7 _ """"""" Az A= AZ
12m ‘ A’("O _____ 5 ) :’"’ b 3¢ zj—/
7m - A’g"f A’ mm smm N :
R Az s
AzLbd |5
SA= Y8+ 431
¥ '4 435 +lo S 192 mm3

40.

Sh= 4L+ 4 (1)
= 4ql.6 $*

41. Assume an equilateral base.

15yd
Y 6.9 yd

8vyd

SA= 27.L + 3(Lb)
= 26104d?
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42. Isaac bought his mother a vase for her 43. Ava would like to cover her tent with a tarp
birthday. He placed the vase ina for additional protection during a storm.
cardboard box with the dimensions given If the tent has the dimensions given below,
below. What is the minimum amount of find the minimum size needed for the tarp.
wrapping paper needed to wrap thg 2

Aey| 1.5
= AT A= |As)y 1t A=l
‘ ‘ 30w ] 36
G = %
4in “ 13 ft
4in _
SA= 2(30) + 4LIL)
= 134 in% SA=1Lg + 4 (118D
=455 P2
Topic 8: Volume of Rectangular Prisms
Find the volume of each rectangular prism.
44, 45, 4.

S :

1 :

; 6.4 ft Szyd|

3in "'” 3 e
16in 7-vyd 5]
5ft 8.5 ft
-rrdl/aa i
V= 3011 V'53(‘lz3(‘is)
) V= 5(8.5)( L)
= 7L8in? -‘2.(1_5.3(&)
in \ = 272 P+3 3 \2 3
T . = 51 Lgo
30

=192 yd S {

47. A juice box measures 6.5 centimeters by
4 centimeters by 10.5¢Cm.
full, how much juice is in the box?

\= (S (10.S)
= 713 tm*®

213(:2) = |54.4 ems3

If the box is 20%

48. The volume of a rectangular prism below is
315 cubic feet. Find the missing

dimension.
V=d-w.h
o 215 = 2.5014) W

Py 2\S = 35 h
ue 35 35

;ijf ‘ h:q -c*
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Name:

Date: Per:

Unit 7 Test

Measurement & Geometry

1. The figures below are congruent. Which line
segment must be congruent to BC?

A B /4
X
vV
E
D C Y
Z
A VW
B. XY
c. vz C
D. WX

2, |f the triangles below are congruent, which
statement is true?

J 21in K D
103°

A. The length of CDis 21 inches.
B. The length of DE s 27 inches.
C. The measure of £Cis 28°.

D. The measure of ZLE is 28°. b

3. Which figures in the diagram below appear to be congruent?

[~

Figure A and Figure E
Figure B and Figure G

A.
B.
C. Figure A and Figure D
D. Figure C and Figure F B]

4. Which figure is least likely to be a regular
polygon?

A | o B.

5. Find the perimeter and area of a square with
a side length of 2 2 centimeters.

P=4(2<)
=10

A=12.5"
= (p.25

P= ) tm A=) 25 ™
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8. The area of arectangle is 48 square feet. Check two measurements from those given below
that could be the length and width of this rectangle.

Find the area of each figure.

7. 8.

10.4m 2 4m

A= b(10.4)

12 yd

10yd

9 yd

A= % (12)(1-3)

22in 13in

6in

20.6in

A= (13) (22+0)
= .5 (2%)

4= 192\n*

- - 2
4= (2.4 w* 4= 433.8yd
10. A triangle with a height of 8 meters has an
area of 72 square meters. What is the
measure of the base of this triangle?
1252 b8
72= Hb

A. 9 meters l?:b A. $174
B. 12 meters B. $198
C. 18 meters C. $252
D. 24 meters C D. $396

11. The glass in a window with the dimensions
given below needs to be replaced. Find the
cost to replace the window if the glass costs
$15 per square foot.

3 ft

m
ul

8ft

A=Z(2.4)(3+8)

=1.20\)
=13.2 P2 5

12. Graph the figure with the given vertices. Then give the perimeter and area of the figure.

E(-7. 6), F(-1, 6), G(-1,-7), H(-7, -7)

A

RN

\ 4

A

%

P=2(0) +2((3)
= 33

A= LB
".:‘lg

P= 39
A= "1%
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Graph the figure with the given vettices, then find the area of the figure.

13. J(-3, 8), K(4, 5), L(4, -7), M(-3, -4)

14. C(-1, 4). D(4. 8), E(4, -6)

J
I A /'b
‘ 4 -
ST T A=7 (4)(5)
A=1207) ¥ - 35
= 34 .
\
N
A N
N &=
v v
4= g4 4= 35
For questions 15-17, find the area of each figure.
15. 17 mm A= al) 16 8 NU7in A, =5 00) (15129
= | -
9 mm >3 . =5(3%)
23in in = 19p
""" Az= 7 (Q)(H.H)
=L
14.4 mm g ¢ I 25in |
=1.5 (38)
= 2%¢€
A. 198.2 mm? A. 475in2
B. 217.8 mm?2 B. 428 in2
C. 282.6 mm? C. 395in?
D. 306 mm? B D. 520in2 A
17. A . 18. If the circumference of the circle below is
| O =1 square foot 44 meters, which expression could represent
3% 1 _ an approximate value of #2
pANE RS _ Az b =24 -
G, | ey | =T
HHEEEH M7 4 = 4TI
A =Z| 414
M A. 7+44
A. 37 ft2
B. 44=7
B. 42 ft2
C. 45 fi2 C. 14+ 44
D. 48 ft2 C D. 44:14 D
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19. Which is closest to the circumference of a
circle with a diameter of 8 yards?

r=4
¢ =2TmH
=g (3. 14)
=29.(2

. 25.12 yards
. 37.68 yards

A
B
C. 12.56 yards
D. 50.24 yards A

20. If P if the center of the circle below, find the
approximate area of the circle.

A=TC- 1%
=289(3.14)

53.38 mi?2

106.76 mi?
907.46 mi?
4,534.16 mi?2 Q

o0 = »p

21. A swimming pool has a diameter of 24 feet.
What is the minimum amount of fabric
needed to make a cover for the pool if the
cover must hang off by 1 foot all around

the pool?¢ r=12
A=T137
= 1ua (3.14)
A. 785ft2
B. 81.64ft2
C. 490.63 fi2
D. 530.66 fi2 D

22. A wheel has aradius of 62.5 inches. Find
the distance the wheel travels in one full
revolution.

0= 27 (b2-5)
= 125(3.14)

A. 196.25inches

B. 274.6inches

C. 318.8inches

D. 392.5inches D

23. If the figure below is folded along the
dotted lines, which three-dimensional
figure will it make?

A. Rectangular Prism
B. Triangular Prism

C. Rectangular Pyramid
D. Triangular Pyramid E

24. The edge length of a cube is shown below.
What is the total surface area of the cube?

SA=b(s)*
= (0(29)

5cm

A. 25cm?
B. 30cm?
C. 125cm?
D. 150cm? D
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25. The net of a rectangular prism is shown
below. Find the surface area of the prism.

3m' 10m
am(g i U0
30
4o Y
30
A. 152 m?
B. 164 m?
C. 178 m?
D. 186 m:? 6

26. Use the net to find the surface area of the
figure below.

14 ft

8t
8 ft

A. 264112
B. 288fi2
C. 302 ff2
D. 316ft2

B

27. What is the total area of the figure below?

10yd
v 4yd
O
6yd 8yd >
v ““t 10
AR E
Aé
A. 126 yd? >
B. 132yd?
C. 144yd?
D. 160yd? C}

28. Beccaiis using construction paper to make
decorations in the shape below. If the base
of the decoration is an equilateral triangle,
what is the minimum amount of paper she
need for each one?

.2 in

éin

Rase = 7 (6)5:2) 44in
= 1S.p

Side = 1 (L) (4.W)
=13.2

A. 457in?
B. 48.6in2
C. 518in2
D. 55.2in?

D

29. What is the volume of the prism with the
dimensions given below?

= . 2 ;
V= 24.5(1)(12) § 12cm
= 205¢% P ]

24.5cm 7.em

A. 1,099 cm3

B. 1,472cm3

C. 1,726 cm3

D. 2058cm3 b

30. What is the volume of the prism with the
dimensions given below?

v=3(13)(3%)
(DY) 3

-
-

sl

2
Smh
I=m
8
13 3 1 3
. 2— 2—
A 2]6m B 4m
C. 2—m D. 2—m
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